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SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 50,000
tierzel HolE=SE AR&T wH 84,000 0 84,000
== 42,000
Al 42,000
401 Al HIZL S 0HYI 84,000 0 84,000
< 42,000
Al 42,000
01 Al&H| 84,000 0 84,000
oter2el HOoIEESE AXAC wAl
84,000,000& » 14 84,000
= 42,000
Al 42,000
Sl HOIEESH JIsSHY 110,000 0 110,000
== 55,000
Al 55,000
401 AIEHIZ SR 0HYI 110,000 0 110,000
< 55,000
Al 55,000
01 Al&H| 110,000 0 110,000
OELUR HOIESH JISHA
110,000,000 *14] 110,000
= 55,000
Al 55,000
T2 J0IESH AIRE M=F 80,000 0 80,000
== 40,000
Al 40,000
401 AIEHIZ SR OHYI 80,000 0 80,000
[ 40,000
Al 40,000
01 Al&H| 80,000 0 80,000
OB HOESEH ARY M=
80,000,000& » 14 80,000
= 40,000
Al 40,000
SUHEYE HOIESH JVISEH 400,000 0 400,000
s 200,000
Al 200,000
401 AIEHIZ SR OHYI 400,000 0 400,000
[ 200,000
Al 200,000
01 Al&HI 400,000 0 400,000
O&2dH NOIESE JIsEE
400,000,000 x 14 400,000
= 200,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 200,000
S F1H JIsEd 500,000 0 500,000
== 250,000
Al 250,000
401 AlEHIZL SO 500,000 0 500,000
< 250,000
Al 250,000
01 Al&H| 500,000 0 500,000
OEYEH Z72E Js2Y
500,000,000 » 14 500,000
= 250,000
Al 250,000
SYHHE MSAE JIs2H 300,000 0 300,000
== 150,000
Al 150,000
401 A2 HIRL R 0HHI 300,000 0 300,000
< 150,000
Al 150,000
01 Al&H| 300,000 0 300,000
Osddy MSALE JIs22
300,000,000 x 14 300,000
= 150,000
Al 150,000
BAFHLAY JIs2Z(HEAY) 5,000,000 0 5,000,000
== 3,250,000
Al 1,750,000
401 A2 HIZL R 0HbI 5,000,000 0 5,000,000
[ 3,250,000
Al 1,750,000
01 Al&H| 5,000,000 0 5,000,000
ORFHUAZ JIsEZ
5,000,000,000& x 14 5,000,000
= 3,250,000
Al 1,750,000
SUIMSAIZES 276,059 263,720 12,339
SUIMSEAIE €X & =2 276,059 263,720 12,339
101 21AH| 12,339 0 12,339
04 JIZtN2Z2XNSE+ 12,339 0 12,339
ORI (SUIMSAE sXI2el) 12,339
>llEs 2,386,780 (20/40) 18+ 10,741
D> oAXt=g 11,4202 x4 A1 2188 366
>=UASRES 11,105,9502 4. 5% 500
DALEE= 11,105,950 %3.495% 389
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chol: SUIMISALEE (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
PENQLYEEE 388, 1532 *12.27% 48
PUEEEE 11,105,9502 %1.75% 195
>ATHEEZ 11,105,950 0. %% 100
201 =3 63,000 63,000
01 At22t2l] 13,000 13,000
OSUH=EAIE 2218 +E4|
13,000,000& * 14| 13,000
2 35234l 50,000 50,000 0
OsSUHHSAIE 3323
50,000,000& » 14 50,000
401 Al HIZ S OHbI 200,720 200,720
01 AlZ2H| 200,000 200,000
OsUM=AIE €X € 2=
200,000,000 *14] 200,000
03 A2 20HHI 720 720 0
OAIZ20HHI 720,000 *14] 720
ST d2te] 400,000 0 400,000
HNEsdExd 400,000 0 400,000
BHEXM=EX W K402 E xd 400,000 0 400,000
401 Al HIZL S 0HHI 400,000 0 400,000
01 Al&HI 400,000 0 400,000
OEXI24HI 400,000,000& *14] 400,000
H=AlE 2d2el 8,543,856 6,000,534 2,543,322
Jl 387,000
= 166,000
Al 7,990,8%
S22t SHE 2l 472,466 596,279 123,813
SCESMSHE 22 240,463 205,713 34,750
101 @124H| 31,771 0 31,771
MU IIRINZZENSES 31,771 0 31,771
OHHY UL (SLUZSMSHE HE22]) 31,771
>llEs 2,305,270 1+ 20,748
D> AX=E 11,0303 *BAI 2h»1H+8L 706
PAdIz2E
16,5402 »48 Al 2t 1E<9E 7,146
>=EUHASRES 28,633,880& *4. 5% 1,289
DALEE= 28,600, 7902 *3.495% 1,000
PEIVNQAYEEZ 999,500 *12.27% 123
PUELEE 28,600,790 *1.75% 501
DAtES = 28,600, 7902 +0. 9% 258
201 fer23y| 200,052 197,073 2,979
01 AtR2t2|HI 44,288 43,588 700
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M MSAE S22
&R s0ERSNSsHE 22 (CHol: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OUBIICZH 25+d BB+ ~a
15,000, 0002 *3%* 12 5,400
OgAd Y HNEHE 15,0003+ 12& 180
o=Zgly &4 300,000 %44 1,200
@)= SES={(=IES)] 60,0002 *1H»118 7,080
Ogaa2(=7) 60,0002 1 *3652 21,900
OIIAHAZRA TI=H|
100,000 x4 H*23] 800
O0Rt - 5258 =S|
8,0002 x183] 123 1,728
O&F=D|, "t & Xtz
6,000,000 *14] 6,000
02 32| 155,764 153,485 2,279
OSZMeSEbE 100,000& 122 1,200
ORJARCIHYAIZZ 300,000& =123 3,600
o®IIE 5,000,000& =123 60,000
OABt=ZAIEE 700,000 =12 8,400
OJtAHIAMAEHZ 20,0002 *13] 20
OXlot=0122 &3 100,000 122 1,200
OSt=A UM G| (AN 22| X})
60,000 * 12| 60
OsUZSMSHEH HE & 24(ZAIJIA)
779.92&x110m* *x3A| 2++310L 79,784
OARE FADII| ||
1,500,000 14! 1,500
202 04d| 8,640 8,640
01 =WOdbI 8,640 8,640
OMSAE2E H2F& 0]
720,000& 123 8,640
SOESNFHE AIERIE> 232,003 190,566 41,437
201 Let2| 184,823 146, 366 38,457
01 Ar2eltl 19,814 17,119 2,695
Ox2E 7Y 500,000& = 12& 6,000
OSZIA ALZBAIE EIIZ A2
270,000& *13] 270
OB HIIBA =22
300,000& »23! 600
OUDIHIEAIE (2L]) BIEIIA BAIE2
= 500,000 & *23| 1,000
OAa%4d tEE =
300,000& =123 3,600
OXotg MI|-H| etd2e| = (=dE
Bl 250kW, & D] 115kW) 450,000 128 5,400
OsZ)| BLUHMEHAL =2
150,000 *23] 300
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el sYUEsHHSHE 2 (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol erE el R
2,644,000 *1CH 2,644
02 S3=gHl 165,009 129,247 35,762
OtlarE L& I[(115KW)
1,8452 %100 £ %12 185
Oz & 282 RNE+
2,000,000& *14] 2,000
ONM==x B4 11,0002 x 142 E+23] 3,124
oggLis 500,000& 12 6,000
O Al 5,000,000& *12] 5,000
O=3& ZHIAIE(0]) RALx
4,500,000 12 4,500
Ol Sl 22 2 55)
5,000,000& *14] 5,000
O+=8d 83489 3,000,000 42 12,000
Odte RX2el 200,000 = 16CH 3,200
O, AESSAHH 8
1,000,000 14| 1,000
OSEggd2clNLY RAE+
8,000,000& *14] 8,000
OgAJ |2 & +=8J|7 RAES
150,000& 205 3,000
O=5EA)| RAES
2,000,000 <2CH 4,000
OAle FA2=+ 10,000,000& * 14 10,000
Os2ZMsHEH 4S9
98,000,000 * 14! 98,000
206 M=l 18,200 18,200
01 M= H| 18,200 18,200
Ox=dE A=AE 850,000& * 122 10,200
OdT IIEX & &I
1,000,000 %14 1,000
OJIEt 28l 23 7,000,000 *14] 7,000
401 Al HIZL S 0HHI 26,000 26,000
01 Al&HI 26,000 26,000
O=sUIHHSHE AI82 RAEs
20,000,000 *14{ 20,000
Os2I2MSHE A= I ES
6,000,000& *14] 6,000
405 KHoHFSHI 2,980 2,980
01 ML ESFSHI 2,980 2,980
ony 340,000 ~2H 680
OEXMEH 200,000 *1H 200
O Xt 300,000 «3H 900
OS2 (1H) 500,000 17K 500
OHEFD(wH) 700,000 *1CH 700
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Chol: 2orotmE U HILAR 22 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
shd=d ¢ HILIAY 22 517,667 125,515 392,152
Jl 105,000
Al 412,667
=8 € HIULE 2l 84,455 47,939 36,516
101 @124H| 32,933 0 32,933
04 JIZtNZ22 NS+ 32,933 0 32,933
OsdARA(S=2 € HLAE 22l) 32,933
>llEs 2,386,780« 1& 128 28,642
D> AXt=E 11,4203 +BAI 2hx 1 x 11 1,005
P=RYUASIELES 29,646,320 *4 . 5% 1,335
PALEES 29,646,320 %3.495% 1,037
PEIIQAEE= 1,037,0002%12.27% 128
(PR =tnt=: N 29,646,320 *1.75% 519
DAHES = 29,646,320 0. %% 267
201 Ler23| 51,622 47,939 3,583
01 At2teltl 6,716 3,948 2,768
OoaRE 7¢ 800,000& 14 800
OUEINEZN 25 IHYE =28
8,000,000 <3 122 2,880
O0Rt - 522 S|
8,000& x 162 x 122 1,536
otidl, E==J1 Sxt=z 1,500,000 *14] 1,500
02 S3=gl 44,806 43,991 815
Ostl=z 45,0003 #2CH+ 123 1,080
(OFSPIETE= 3,400,000~ 128 40,800
OXlot==0l8FE= 30,0002~ 12& 360
Ogt=A NS 2] 60,0002 «12 60
OJI A&l HEH|
1, 7403 +6LH*4 A 2H+60 2,506
24z Y HUAE AERXES 83,212 77,576 5,636
201 et 3| 24,572 23,436 1,136
01 AtR2tc|Hl 11,974 10,858 1,116
Oox2E 7¢ 1,654,000& x14] 1,654
OXLE MI|4H| eteae| g (~d L
HI 500kW) 500,000& 122 6,000
OAgdd| otdaie| s
210,000 x 122 2,520
Os2Il ZIIZA =8
100,000 2CH 200
OZ 22 | SX=(EC L= 108)
1,600,000 14| 1,600
02 S3=4gl 12,598 12,578 20
Odslx H4 22@%31,000 £ =13 682
OMz==x H4 12,0002 *10E 22 240
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJIAHEE BE=(&X8 &CIRI| 2 63)
1,000,000 %14 1,000
Odue)] K2+ 100, 0002 *13CH 1,300
ORI, Stlf==, A3tEHl |2
2,000,000& *14] 2,000
OJ=FHUAZ HtEE A
1,500,000 *23] 3,000
Osd)| otd FA2ACIES
2,188,000 *2CH 4,376
206 M=l 13,000 17,040 A4,040
01 M= HI 13,000 17,040 A4,040
OJIEt &4l 3 5,000,000 *14 5,000
Otlg & H=H 6,000,000 * 14 6,000
Ou e+ 2,000,000 %14 2,000
401 AIEHIX S0HH 44,000 37,100 6,900
01 AlZH| 44,000 37,100 6,900
ORAFART AL2 SNES
20,000,000 * 14! 20,000
OAUZEYRY ASS HIIOHHY
4,000,000 * 14 4,000
O=sX2el(ME=Y) 20,000,000& » 14 20,000
405 KHoHF S| 1,640 1,640
01 ML ESFSHI 1,640 1,640
oxy 340,000 *1H 340
(OEIVN; 300,000 *1H 300
OBx=NEH 200,000 *1H 200
Oull=7| 400,000 =2CH 800
SRS AL 2= 150,000 0 180,000
) 45,000
Al 105,000
401 Al HIZ S OHbI 150,000 0 150,000
Il 45,000
Al 105,000
01 Al&HI 150,000 0 150,000
O2nd=d AHHAIE HE+
150,000,000 * 14! 150,000
Jl 45,000
Al 105,000
HFHLAE HES 200,000 0 200,000
) 60,000
Al 140,000
401 Al HIZ S OHYI 200,000 0 200,000
Il 60,000
Al 140,000
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el E9Y=sd # HuULE 2el (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 200,000 0 200,000
OF=FHUAZE N2
200,000,000 * 14 200,000
Jl 60,000
Al 140,000
SULEMSAIL 2 157,930 170,512 N12,582
SULEMSAIE 2 157,930 170,512 N12,582
101 ©1AH| 32,933 31,015 1,918
M ORNZZ2NSE S 32,933 31,015 1,918
OSYLRA(SUUSMSAIE 22]) 32,933
>llE2s 2,386,780« 1H 122 28,642
> AXt=g 11,4202 8AI 2+ 1811 1,005
P=UASRYES 29,646,3202 4. 5% 1,335
DAHLEEZ 29,646,320 *3.495% 1,037
PEAIVNQAYEEZ 1,037,000& %12.27% 128
PHNESES 29,646,320 *1.75% 519
DAESE S 29,646,3202 0. 9% 267
201 fer= 3| 99,997 116,297 16,300
01 AtR2tc|HI 7,797 7,597 200
ox2s 7¢ 2,997,000& *14] 2,997
OXPtE &Il erd2te| Ha = (120kw)
150,000& « 12& 1,800
O0el0l =0lAld HEEH ez
1,800,000 %14 1,800
O&=)| gtz 100,000 1CH* 122 1,200
02 s3=gHl 92,200 108,700 216,500
o&IIe3 1,000,000& «12& 12,000
Odote=es= 3,000,000& ~12& 36,000
Ostes 100,000& * 12 1,200
O2%==018 282 4
40,000,000& *14] 40,000
OSLUEMSAIE FAl2e
3,000,000& *14] 3,000
206 M=l 3,000 3,000
01 MZH| 3,000 3,000
OJIEt &8l B3 3,000,000 *14! 3,000
401 AIZHIX S0HH 22,000 20,200 1,800
01 A28l 22,000 20,200 1,800
O=sX2el(ME=Y) 12,000,0003 % 14] 12,000
O=ndaM=Ae AdE RIS
10,000,000 * 14! 10,000
ceds2tatel 934,590 716,254 218,336
CENs2 2g2¢c 523,985 327,569 196,416
101 @124H| 194,358 0 194,358
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORNZZ2NSE S 194,358 0 194,358
OgZaRA(CM=s2 fE2el) 51,678
>olE=s 2,305,270 *(30/40) =2« 12& 41,495
> AXt=g 11,0302 +6A| 22+ 11 1,456
>oIERRAY
12,4003 x12AI1 2H2H = 123 3,572
>=eig=z 46,524,610 *4 . 5% 2,094
DALEE= 46,524 ,610& *3.495% 1,627
PEINQRYEER 1,626,0302%12.27% 200
[PE=het=: N 46,524,610& %1.75% 815
DAHESEE 46,524,610 0. %% 419
OSAAURA (=T & MY 22]) 142,680
>ol=s 2,386,780 x4H«12& 114,566
D> AXt=g 11,4202 x4 »8A1 2H+ 11 4,020
> OEDR A
17,1303 » 12A1 2H+4 2+ 123 9,867
>=eigi=s 128,453,000 *4.. 5% 5,781
PALEES 128,453,000 *3.495% 4,490
PEIIQUEE= 4,490,000 *12.27% 551
PUEEES 128,453,000 *1.75% 2,248
DAHESEE 128,453,000 *0. %% 1,157
201 er23| 326,027 323,969 2,058
01 At2teltl 55,733 55,853 A120
OoaRE 7¢ 4,100,000 *14] 4,100
OLBIISHR S3+L 248
30,000,000 <3 122 10,800
OolstliE MAE(RE, 2J5tE S)
3,000,000& *14] 3,000
O=NZLOI==M 21 38)
200,000 *23] 400
OogAd s MEHE 15,0003 x 122 180
Oga=E(dA) 60,0002 x1H*116& 6,960
Ogzlsg(=7) 60,0003 x1H 365! 21,900
OJIAA 224 LI=Y]
100,000 3 »23] 600
OO0t - S22 SEH|
8,000 x2&*103|* 12 1,920
O&=J| SX= 370,000 * 122 4,440
Odltl &xt=z 119,400~ 12& 1,433
2 s5=34l 270,294 268,116 2,178
oMIIeza 10,500,000& x 12& 126,000
Odotr=es=s 6,000,0002 122 72,000
Ous=&2g=s 2,000,000& %12 2,000
OH&AIDNEY RE= 100,000& 10 1,000
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OEZHIN NS 4=
100,000& «12& 1,200
OLIReIgHY A= 40,0003 128 480
OPJESENEi=lh= 1= 50,000 *13] 0
(OEN-gelFsh="kolls] 100,000& 12| 100
O L 22(ZAIDEA)
7803 *130m* *3A| 2+x220 66,924
Oer& J1(300kw) 1,800 *3002| E4*13] 540
202 04dl 3,600 3,600
01 =LHO4 b 3,600 3,600
OCaMSH LLET o]
300,000& 123 3,600
CEHR2 AIESXNES 410,605 388,685 21,920
201 Let2| 281,005 269,085 11,920
01 Ar2eltl 36,105 35,505 600
Ox2E 7Y 18,755,000 & 14 18,755
OXIHE HI|8| ordze| = (A
Bl 600kw BIAHHZ D] 300kw)
950,000& * 123 11,400
Oag4d| oHdEE =
400,000+ 128 4,800
O32I| HIIBA =25
150,000 »2CH 300
OSZINAAEANE BIEE =2
350,000& *13] 350
O AME22
250,000& *2CH*13 500
02 2324l 244,900 233,580 11,320
oggas 450,000& *12& 5,400
(OYSEESIPSEN 11,000 *240E+23| 5,280
OSZJIZ2H X & 22|
1,000,000 *4CH 4,000
O=g%& 4dlzel 10,000,000 & * 1A 10,000
OAEEYY & SWED| A2
3,000,000 & *2CH 6,000
OSERABRANAY ST T4
15,840,000 14| 15,840
O ZLANAE B2
5,000,000 » 14! 5,000
OXg2eANAE SAE2(F|IEHE 2| 35)
10,000,000 14! 10,000
OXSHIAHAIAE S
5,000,000& * 14! 5,000
OEAI|REHl RXES
300,000&*27& 8,100
OISV ERTE PE-
165,000,000 14! 165,000
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OsdJl 2td RX22IES
220,000 =20+ 122 5,280
206 =4I 22,600 22,600
01 XM= 4l 22,600 22,600
O=gd ST 200,000& * 128 2,400
O=&E =Xl A=
500,000 122 6,000
O F&H 100,000& x 122 1,200
O822I 423
7,000,000 + 14! 7,000
OJIEt &8l 23 200,000 205 4,000
Ox=gZ, dA% 424 M=t
2,000,000& %14 2,000
401 Al HIZ 2018 97,000 97,000
01 AlZH| 97,000 97,000
ON&2 RTLH(212, 12, &I S)
35,000,000 x14! 35,000
occTv &Xl 7,000,000 * 14! 7,000
OXISAIAE PLC ISHN 2
23,000,000 *14] 23,000
OJAHA == 2 2=
10,000,000 x 14! 10,000
OJIHd &IINE=E B
7,000,000 * 14! 7,000
OSe2d2e|AIAE BAE WXl
15,000,000& * 14! 15,000
405 KHAHH SH 10,000 10,000
01 ML ESHSHI 10,000 10,000
OFRIE 70 72
1,500,000 2CH 3,000
04T 2547
7,000,000 1CH 7,000
SIS 2 76,297 47,925 28,372
SEHSHI 2F 2l 76,297 47,925 28,372
201 L2 30,297 26,925 3,372
01 AtR2telb] 7,823 7,751 72
OoA2F ¢ 1,769,000& 14 1,769
OABIIE SH4Y U 442
60,000,000 +2.97% 1,782
Ot M 300,000 %14 300
OXItE &HI|&H| tMze| HES(+HS
2F120kw) 146,000& « 122 1,752
OOt - Fe22 S|
8,0003 20 x 122 1,920
O&=J| Xz 25,0003 10 =128 300
02 S3=2g4l 22,474 19,174 3,300




2A:

=t

ZH: HSAL 22
Chelr SEXSEX 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFSPIEei=] 1,700,000& «12& 20,400
Ox==e=s 120,000& * 122 1,440
O&slx H4 22 +7,0002| El*12] 154
Oostes 40,0003 * 122 480
206 MH=HI 4,000 4,000
01 MHZHI 4,000 4,000
OJIEt &8l 23 4,000,000 14 4,000
401 AlZHIZ S 0HbI 42,000 17,000 25,000
01 Al&H| 42,000 17,000 25,000
OSFH=SHI AEES RA2=
5,000,000& 14 5,000
OBINE(ZF7E 2 7THA) #A 2 JIEHAIE
2 25,000,000 * 14! 25,000
OEHSHI 2 204 =X2e]
12,000,000 » 14 12,000
SAEA HESE 2l 64,074 65,914 1,840
SHEA HESE 2l 64,074 65,914 1,840
101 @12A4H| 24,675 31,015 26,340
04 JIZtNZ22 XS 2+ 24,675 31,015 26,340
ORI (HAZAINSSH 2el) 24,675
>llEs 2,386,780 1 +0E 21,482
D> AXt=E 11,4203 xBA| 2h»1H+8L 731
>=elg=s 22,211,9002 4. 5% 1,000
DALEEZ 22,211,900 %3.495% r
PAVQRLEEE 776,300 %12.27% %
PUELEHE 22,211,900 *1.75% 389
DAtES = 22,211,900 0. %% 200
201 Ler=23 | 20,999 20,99
01 At22te|Hl 4,739 4,739
OoaR2E 7¢ 1,719,0002 14| 1,719
Oeti= M= 300,000 %14 300
O&IIEHl ASUHMEH =42
250,000 22 500
O0Rt - 222 SEH|
8,0003 20 x 12 1,920
O&=)| gitz 25,0003 10 =128 300
02 s3=gHl 16,260 16,260 0
Oo&IIe3 1,200,000~ 128 14,400
Ox=ER=s 120,000& «12& 1,440
Ostes 35,0003 x 122 420
206 M=l 1,400 1,400
01 M=4l 1,400 1,400
OJIEt 8Hl 23 1,400,0002 %14 1,400
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401 Al HIZL 2018 17,000 12,500 4,500
01 Al&H| 17,000 12,500 4,500
OSUIZAIMESE AE=S RAEs
7,000,000 *14] 7,000
Ostas E(287 =+ & £2H g2+
) 10,000,000& * 14! 10,000
g9 SEHSsME 2l 511,901 0 511,901
g SEHNSUH 222 256,041 0 256,041
201 Ler23 | 256,041 0 256,041
01 At2t2ltl 47,975 0 47,975
0422 7¢ 5,000,0002 14} 5,000
OUBIIEZH SH4L 442
50,000,000 *3w+9& 13,500
OogAd s MEHE 15,0002 +9& 135
Oga=EH(dA) 60,0003 18 +90! 5,400
Ogzlsg(=3) 60,0003 x1H 275 16,500
O0Rt - 222 S|
8,000& x2& *108] 9 1,440
O&=Jl, Hltl & SX=z
6,000,000 * 14 6,000
2 35244l 208,066 0 208,066
OoNIIR3 10,500,000 9 94,500
Ox==e=s 6,000,000& ~9& 54,000
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